Homework 10 Key

Homework

4.1

6. π/2 right

12. 6 radians

18. 11 π/6

24. 135 degrees

30.  76 degrees

36. 171.89 degrees

42. III

48. I

54. II

60. 200 degrees

66. π/6

72. 1.68 
78. 5 π/6 or -7 π/6

84. 7 π/6

90. 12.57

96. 698.13 mi.

102. the size of the angle is determined by how far its terminal side is from its initial side

108. divide radian measure by π then multiply by 180 degrees

114. 65.76 degrees

4.2

4. 
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12. 
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28. 1

36. 
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44. 1.7434

52. a ≈ 7

60. 1.253 rads

80. 47 degrees
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